BEFATILR AR (AKEH)

TR 2R 3R
A—11i
Fig-r@E —°
=HEEM-YY-URRETC 6
2(LDA AM
me-E% —
tLyy-7)- (7—4) 6
F—14L
£)Il-ch# °
VAVK =TSEE N7 )y)E4ith
D—14I 1
FiR- ,
(2D 5 -butterfly effect
C—11i
wE-RE @ —
KAl—- 4
E— 14
FRems —
YTC-TeamUG
A—21i 1
ME-5E  —
DTLA
B—11i 6
K- —
[SD5H

128

HhiE - £ %7
tLwyy-7Y)-

AE 2B

KE-fE
[ZD5H



TFETILA AR (KE)

1R 2R

A—1{r
ML - %7 — ;??m
(IZD>H-7)-) 6-2 =05
B—2fi

=T ML - %7
LicfINRResF 24 — — D537
o5 ?io (IZD># 7))
A—2fi ik EEE
el — st Bk
(7Y)—-butterfly effect) 6-4 (&DF)

B—14L

hff-E ——
(&D0%F)




10

11

12

13

14

15

16

BFFITNVR Bk (FH)

1R 2R 3R 4R
A—1{u
BRI —°
7= 3
2L DA A2
HiE-EE —
Hboh 3
c—11{u
AT-EE 00—
7')-
D— 14 6
XAE-F —%
HbeAIN-G 6
E— 14
g2x-t3 —0
$u5)-y 4
2B DARM
M-+ —
NWAIPYF:-¥ic)
A—2{ 6
[RH-BER B
REn-vTC 51-57
B—14% 6 NI E it
JNK=1M I — 5%
$U7)-y
F—1{
=E-FEE —° N
o ] e
2L DA RF2 INA-I
e — By
#H-#EF —_—
UIT—-Hboh 4
H—14
%7 - LU —
TEUT7)-
I—14 6
Eff-28 e
th5 A - River
J—11
Kot -IRHE —

T W—AUNVATT 3
26L DA AM

1L - LU R —_—
PUREE = =1 57

F—24{I 6
P NITEEE - R—
IN-G/R#ILUK
G—11{i1 6
EF-EF —
NTyhES

7
6 (7-3)




TFFTILA Bk (FE)
1R 2R 3R

A—1{iL

MR -AH
GN=v19-7Y-)
B—21i1

WP - AR
(butterfly effect)
C—14r

2ok S RF N
(takn-y)
A—2{1
KHEH-HJI
(fBFLp-yTC)
D—11x
#4t-P9H
=)

B—1{i

(EE N

T V=AW VR-9I-7)

s
VNG
6-4

i
NG

71-6 (7-3)

KH

. L

6-3

RN

21
6-1

=M
60

2R
WA=
(T W=V VAR-9I-7)

B
2ok S RF N
(faL0-Y)



BFFTILR ATE)

A7°09) HEIEE —
1 F5-=H 6 6
(SHEH-9Y-VERTC) B
3ER-HFR | 6
Y- D)
4 125 -HH
(77VT5592TC) 5 0
B7'OvY) HEIEE —
5 K% - 6 6
(I2D>5H)
2 5l K%E 0
CEEEBEE 5253 9
7 G -EH
Lyya) 6 2
Cc7'ayy HEIEE —
8 lE-IRE 6 6
(KAY=)
9 E¥-HekE 2
Y- 3
10 Hig- %)
CERFHEK-7)-) 6 3
D7°OvYy HEIEE —
11 ER-HE 6 6
(IZM 5 -butterfly effect)
12 @ E@ | 6
(DTLA) 3
13 A - /N FE
7-) 00
E7 Ay) HEIEE —
14 LH-BR 3 0
(Team Youth)
15 g - AR 1
@Y-) 6
16 LR HiE
(YTC-Team UG) 6 6
Foows HEIEE —
17 EJI|- s 6 6
AVK—TSEER- N7 9 ) E 73t
18 HIZ 165 | 6
(tbyy-7-) 5
19 3E+f-ILA

(KR1-) 0 2

28

migy— oz | IR
2—0 ’
1—1 9
8/19=0.421
0—2 3
Hx?;i%ma g5z
2—0 ’
0—2 3
=1,
8/14=0.571
Hx?;i%ma g5z
2—0 :
0—2 3
=1,
9/17=0.529
Hx?;i%ma g5z
2—0 i
=1,
9/15=0.6
0—2 3
Hx?;i%ma g5z
0—2 3
1—1 9
7/16=0.438
2—0 :
Hm;ii\g g5z
2—0 ’
=1,
11/17=0.647
0—2 3

2BIDA A2

2BIDA M



TEFLTILAA(FE)

A7° 0y
1 B
(IZD5#-7Y-)
2 M=K
@Y=
3 K#- ik
FEY)

4 1ERN-EH

(7')=-butterfly effect)

5 /NFg- B
(&o%)

B7'0y)

6 7oLl - hik
(IZD>5H)

1THER-FE
@Y=

9 ht-FhH
(&o%)

10 AR-Bff

T W—UNVATT-7Y-)

HAIEE —
6 6
1

3
6
1
HAIEE —
6
3
3
6
6

T "
WS — LE IEA
2_0 1
12/14=0.857
0-2 4
3/15=0.2
1-1 3
2-0 9
12/16=0.75
0-2 5
1/14=0.143
B n
RSy —LE Bz
2_0 2
12/19=0.632
0-2 4
6/18=0.333
2-0 :
12/18=0.667
0-2 3
7/19=0.368




BFFITLA B(FE)

A7°'0vY
1 BK-1E 6

HEIEE —

6

@9-)
2 #O-K

@9-) 2
3 TFE-F

HY-)
4 JRH-ER

(K#&D-yTC)

B7'0yY
5 1#11)- iz 5

HEIEE —

3

(IN=G-94U7 W VIRER)
6 A&t

W79y &) 6
7 I\K-MI

=)

c7'nyy
9 K5 &=k 6

HEIEE —

6

@)
8 fnK-dnK

Y- 0
1 Fl-FE

(NTYyh &)

D7°myY
12 RAE-Hl 6

HEIEE —

6

b A IN-G)
13 2@ - tH

TP 2
14 E#-THE

=)

EJOVY
15 IR 0

HEIEE —

2

-
16 2X-tH#

HY-2) 6
17 &5f-E#E

B PA)

2-0 1
1-1 3
8/17=0471

0-2 4
1-1 2
9/16-0.563

0-2 3
1-1 2
10/21=0.476

2-0 1
Eﬂsg%m‘é IRz
2-0 1
0-2 3
1-1 2
10/18=0.556

2-0 1
1-1 2
8/18=0.444

0-2 3
0-2 3
2-0 1
1-1 2
10/18=0.556

Fovsy

18 KilU-==%
(TN-G-FHBILU)

19 LLH-%H
On'—=-7Y-)

20 AiTE- P
(SATZA%=91)

21 50 -fEiE
CAED)

Gc7ovy
22 A -F1H
B vA)
24 Frt- Al
[CoZUED)

25 BF-BN
N7y hE4ith)

HDOv)
26 L - LR
[CUER = 3=13)
27 A% LA
(FEYT7-79-)
28 B#E-dil

262DA°AM 5
=)

447°L-4(1-3)

170vy
29 EfF-£28
(35 A -River)
30 BO-EA
(KRY=-)

31 gE&-m
(FEYT7-79-)

J7ovy
32 K- RH
T V=AY VATT)
33 HH-#EF
RAIT—- B BA)
34 BBA-FH

2L DA RF2 .
Huy)-0)

447912k %

1S

HEEE —
6 6
3

1
3
6

HEIEE —

6 1
2

2
6 6

HEIEE —

2 6
6

6
4 2

HEEE —

6 6
1

1
6 O

HEEE —

6 6
6

2
3 1

mar—nz | JEEL
2-0 2
12/18=0.667
0-2 4
3/15=0.2
0-2 3
4/16=0.25
2-0 1
12/13=0.923
T3 "
migy—sz | IREL
1-1 2
7/15=0467
0-2 3
2-0 1
T3 "
migy—sz | 1RO
1-1 2
8/16=05
2-0 1
0-2 3
R "
mar—nw | JBEL
2-0 1
0-2 3
1-1 2
6/13=0.461
P "
migr—sm | B
2-0 1
1-1 2
8/17=0471
0-2 3

2L DA AM

262D P2



ZFSTILR B(FiE)

A7°RyY HEIESE —
1 &40 #EH 2 4

28

7-)
2 KH-FJI|

(f84n1Lo-yTC) 6
3 FEIR-EHM 0

(butterfly effect)

4 BH WK

V=-7=+3) 6
5 iR -HF

G Y= 79-) 6

B7'OvY) HEIEE —
6 WP A 4 6

(butterfly effect)

7 Bk At

&FN7) 6
8 fA-EM 6

T W—4UNNVATT-HI-7)

9% EBF

(butterfly effect) 4

10 F &K

(ZD>H) 3

c7'ayy HEIEE —
11 ¥F- K88 6 2

(£LyY)
12 2% AW 2

(717 -butterfly effec 5
13 H#d - FfH

(fakn-Y) 6 6

D7 AyY HEIEE —
14 £54t-F9E 6 6

@Y=
15 BRHE-#k 5

@Lyya-7Y-) 5
16 Mgk F5

FENT-IZD5H) 6 5

WBS—LE =72
0-2 5
1-1 5
11/19=0.579

1-1 4
6/17=0.353

1-1 3
7/13=0.538

2-0 ]

Hﬂ%ﬁ%i\$ JE AL

1-1 9
10/19=0.526

1-1 4
8/18=0.444

2-0 ;

1-1 3
10/21=0.476

0-2 5

Hﬂ%ﬁ%i\$ JE AL
1-1 9
0-2 3
2-0 ]

H)I?%Ei%i\$ [:4i2
2-0 ;
0-2 3
1-1 5




